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23) A rectangular pyramig has a height of 8.5 ft and a volume of 138.83 ft3. What is the area of its base? (l—' w)
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27) The volume of a basketba]l is 448.92 in®. What is the length of its radius?

V= AT 445,92 = %ﬂﬂ/ — £ 4FSin

_ 77 3] __ _3/3
E}—%:?—"lp %} qzi.bcl—é"}[ﬂ__\/ro:?.l_l%}r“

28) The volume of a baseball is 12.77 in3. What is its diameter?
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| BONUS VOLUME PROBLEMS

If you are feeling pretty confident in finding volume of these solids, try out some of these. If you can complete
these, you will have the opportunity to take a bonus quiz that will include similar volume problems.
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